

ROMANIAN MATHEMATICAL MAGAZINE

If in $\triangle ABC$, I – incenter, then:

$$\sqrt{\frac{R}{2r}} \cdot \sum_{cyc} (g_a + |b - c|) \geq \sum_{cyc} \left(AI \cdot \frac{n_a}{h_a} \right)$$

Proposed by Bogdan Fuștei-Romania

Solution by Mohamed Amine Ben Ajiba-Tanger-Morocco

We will first prove that

$$g_a + |b - c| \geq n_a. \quad (1)$$

We have $n_a^2 = s(s - a) + \frac{s(b - c)^2}{a}$ and $g_a^2 = s(s - a) - \frac{(s - a)(b - c)^2}{a}$, then

$$(n_a g_a)^2 = (s(s - a))^2 + s(s - a) \left(1 - \frac{(b - c)^2}{a^2} \right) (b - c)^2 \stackrel{b > |c - a|}{\geq} (s(s - a))^2 \Rightarrow n_a g_a \geq s(s - a)$$

$$\Rightarrow (n_a - g_a)^2 = (n_a^2 + g_a^2) - 2n_a g_a \leq (2s(s - a) + (b - c)^2) - 2s(s - a) = (b - c)^2,$$

then the proof of (1) is complete. Also, we have:

$$\frac{AI}{h_a} = \frac{r}{\sin \frac{A}{2}} \cdot \frac{a}{2F} = \frac{2R}{s} \cos \frac{A}{2} = \frac{2R}{s} \sqrt{\frac{s(s - a)}{bc}} = 2R \sqrt{\frac{a(s - a)}{s \cdot 4Rsr}} = \sqrt{\frac{R}{2r}} \cdot \sqrt{\frac{2a(s - a)}{s^2}} \leq \sqrt{\frac{R}{2r}},$$

$$(\therefore s^2 - 2a(s - a) = (s - a)^2 + a^2).$$

Then :

$$\sqrt{\frac{R}{2r}} \cdot (g_a + |b - c|) \geq \frac{AI}{h_a} \cdot n_a = AI \cdot \frac{n_a}{h_a} \quad (\text{and analogs})$$

Therefore :

$$\sqrt{\frac{R}{2r}} \cdot \sum_{cyc} (g_a + |b - c|) \geq \sum_{cyc} \left(AI \cdot \frac{n_a}{h_a} \right)$$